00'L 1Howad unmANna ]
7 8L'T TNdn3 nAg
\- 69 091 BunesnruiA 1 eosiag
\V } ;\% 19°0 ol
10°S undoLnddaL u yuHamawou exdogg
GO'ET auHexdaro)
6E°LT "83"W/*0Ad *h'l 8 BUHIIMAaWOU OLOVMK auHexdaro)
610C°L0°TE
ou 8T°80°T0 2
8T0Z'¥0'VT L0 Z/95N roMoLodu 91" serwodororeavay A KadeHAWWOY U
6T EBLEL = 91'90S 1¥ 68'8el LT 8€68S T -| ¥S'S60EY = 20904 65 ouHarag00Tog
8¢°CEST9 * S6°C99 vE 98°888 CC LV LZET -| €v066 SE = 6T'85L 6% 08X
66'660 09 - 78'TIT €8¢ L676T LTT 100 18°ZIT €8¢ - ¥1'Z87 ¥0C BMHALILIOLQ
8Z'STT St 98'960 £V 89°29S 92 - 98960 £V 0T'18S 82 1Howad MISHILELMLEY
00°E0L LE joui €€ Auo 19L0ged 3I9HKeLHOWOdLHILE
007000 : 1910ged siaHavaLMdswenodiiare
00:0¥Z 9 ] 079 exviooHien
00°00S T 1urAecidaHe
i ‘LM 7 19L9%BLOUHaLD
00 PR : BH HOMO X19HHEBa9d 3T eHOWEE
ELTLT 6E LO'EBY IT -| 00°LSZ £6 t 64'565 OF =549 i 0Ov'9SE ¥S €S°LIV LT CI'TIS ST 1Howad unmbial
89°L1E # 9€°£9S £0'00¥ - 9g°L9S - SE0ST 289X MOD
S6'6vF - 6€°558 0r°'08S TZE 817758 = 96'¥LT €E MOD
S8'6LC9 = vL'86F € 81999 £ faara 759rr € = 6C'LYY 9 0Jire
78°6¢T TE SYIT L -| BELISETC 8E'L9S5 EC LT°T60 0E | TE0L6 6E [ 8L°0SC T¢C 09qL
8T'VEE LTT SS'T98T -| OEEIBIS £1°9%9 L9 061799 £8 = 69°TET LTT 61991 6€°298 £8 aunexdarod
TTLBL VT 9£°0¢E -l ¥¥'9LSST LTSST 1T {8'86T LT 80 VI -| 9011l L€ £9'98T -| S0'68CST exdogk
LZ'ise €L 9e'9¥€ 6 -| <TL°LS606 6L89v L1 66'¥56 vl 80°¥LY¥ -| 90°¢lZ ¥6L 957082 ¢T Loy vTL h'L 8 auHexda’oD
81L0Z°ZL°LE gL0Z°ZLLE auolAurou Z aurolAuou L OHIKhEUUD _nhuromnmnwc OH3ILUDHUhEH 8LOZ°LO'LO g8L02°LO°LO .L>5>.._.Ommn 9HHESOHIWUEH
EH BMHOLA2EBH | BH oTaue) BH olfquren | BH BUHALOJEH
:._ED.Q hommmn OHaHLouI9g :._EOU.
T'L¥9 9T'Y BeHXKodoToHeEaWaY YA IadeHAWWOY U
You 810z et suHawgeduA edogolo OIMHIHIIOLOU OL]
«uadaprooredL» OVE
HA LohLlD

200 Avoxorodu A SN @vHa¥ouwudl]




